Chemistry 115 - 4007					Name 					


Dr. Cary Willard


Quiz 7A (15 points)					October 30, 1995


Must show all work to receive credit.





1. (6 points) Key terms





The principle that the solubility of a gas in a liquid is proportional to the partial pressure of the gas above the liquid.





Refers to two liquids that are not soluble in one another, and if mixed, separate into two layers.





An unstable solution that contains more solute than a saturated solution at the same temperature.











2. (3 points) Calculate the percent silver acetate, AgC2H3O2, in a solution made by dissolving 35.4 grams of silver acetate in 835.5 grams of water.





























3. (3 points) Calculate the molarity of a solution made by dissolving 52.3 grams of potassium nitrate, KNO3, to a total volume of 350.0 mL
































4. (3 points) To what volume must 25.0 mL of 0.2532 M HCl be diluted to make a solution that is 0.1932 M in HCl?


�
Chemistry 115 - 4007					Name 					


Dr. Cary Willard


Quiz 7B (15 points)					October 31, 1995


Must show all work to receive credit.





1. (6 points) Key terms





The principle that the solubility of a gas in a liquid is proportional to the partial pressure of the gas above the liquid.





Refers to two liquids that are not soluble in one another, and if mixed, separate into two layers.





A homogeneous mixture at the atomic, molecular, and/or ionic level, consisting of a solute (or solutes) dissolved in a solvent.











2. (3 points) Calculate the percent silver acetate, AgC2H3O2, in a solution made by dissolving 61.4 grams of silver acetate in 835.5 grams of water.





























3. (3 points) Calculate the molarity of a solution made by dissolving 25.3 grams of potassium nitrate, KNO3, to a total volume of 350.0 mL
































4. (3 points) To what volume must 25.0 mL of 0.3252 M HCl be diluted to make a solution that is 0.1932 M in HCl?


�
Chemistry 115 - 4007					Name 					


Dr. Cary Willard


Quiz 7C (15 points)					October 31, 1995


Must show all work to receive credit.





1. (6 points) Key terms





Refers to two liquids that are soluble in one another.





In a solution, the component present in the largest concentration, usually the liquid component in which the solute dissolves.





An unstable solution that contains more solute than a saturated solution at the same temperature.











2. (3 points) Calculate the percent silver acetate, AgC2H3O2, in a solution made by dissolving 46.4 grams of silver acetate in 685.5 grams of water.





























3. (3 points) Calculate the molarity of a solution made by dissolving 68.3 grams of potassium nitrate, KNO3, to a total volume of 250.0 mL
































4. (3 points) To what volume must 50.0 mL of 0.2382 M HCl be diluted to make a solution that is 0.1032 M in HCl?





